M4 M5 M6 M8 M10 M12 M14 M16
Hex Nut Hex Nut Hex Nut Hex Nut Hex Nut Hex Nut Hex Nut Hex Nut
4300 4301 4302 4304 4305 80250 80911 80912
M4 M5 M6 M8 M10 M12 M14 M16
Lock Washer Lock Washer Lock Washer Lock Washer Lock Washer Lock Washer Lock Washer Lock Washer
80273 80274 80275 80277 80278 80279 81900 81797
M4 M5 M6 M8 M10 M12 M14 M16
Flat Washer Flat Washer Flat Washer Flat Washer Flat Washer Flat Washer Flat Washer Flat Washer
80259 80260 80261 80263 80264 80265 81901 81799
M4 x 12 M4 x 15 M4 x 20 M5 x 12 M5 x 20 M5 x 25 M5 x 30 M5 x 35
Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw
4250 4251 80200 4254 4255 4256 4257 80201
M5 x 40 M5 x 50 M6 x 10 M6 x 12 M6 x 16 M6 x 20 M6 x 25 M6 x 30
Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw
4259 80203 4264 27329 27330 27331 27332 27333
M6 x 35 M6 x 40 M6 x 45 M6 x 50 M6 x 60 M8 x 12 M8 x 16 M8 x 20
Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw
27334 27335 27336 27337 27338 27339 27340 27342
M8 x 25 M8 x 30 M8 x 35 M8 x 40 M8 x 50 M8 x 60 M10 x 20 M10x 25
Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw
27343 27344 27345 27346 27348 27349 61268 61269
M10x 30 M10x 35 M10 x 40 M10 x 50 M12 x 20 M12 x 25 M12 x 30 M12 x 40
Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw
61270 61271 61272 61273 61281 61282 61283 61285
M12 x 50 M14 x 25 M14 x 30 M14 x 40 M14 x 50 M16 x 50 M16 x 60 M16 x 80
Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw Cap Screw
61287 81892 81893 81895 81896 81770 81772 81776




